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GRILLE 1 CE1
0 + 0
49 - 10
8 + 10
17 - 7
20 + 5
double de 9
10 + 20
10 - 5
100 + 100
37 - 20
50 + 29
moitié de 100
2 + 1
39 - 10
1 + 20
52 - 2
70 + 5
double de 50
10 + 90
11 - 5
22 + 30
52 - 30
40 + 20
moitié de 18
1 + 8
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CORRIGE GRILLE 1 CE1

0 + 0 0
49 - 10 39
8 + 2 10
17 - 7 10
20 + 5 25
double de 9 18
10 + 20 30
10 - 5 5
100 + 0 100
37 - 20 17
50 + 29 79
moitié de 100 50
2 + 1 3
39 - 10 29
1 + 19 20
52 - 50
70 + 5 75
double de 50 100
10 + 90 100
11 - 6
22 + 8 30
52 - 30 22
40 + 20 60
moitié de 18 9
1 + 8 9




